Canad. Math. Bull. Vol. **58** (1), 2015 pp. 207–224 http://dx.doi.org/10.4153/CMB-2014-029-4 © Canadian Mathematical Society 2014



Exact and Approximate Operator Parallelism

Ali Zamani and Mohammad Sal Moslehian

Abstract. Extending the notion of parallelism we introduce the concept of approximate parallelism in normed spaces and then substantially restrict ourselves to the setting of Hilbert space operators endowed with the operator norm. We present several characterizations of the exact and approximate operator parallelism in the algebra $\mathbb{B}(\mathcal{H})$ of bounded linear operators acting on a Hilbert space \mathcal{H} . Among other things, we investigate the relationship between the approximate parallelism and norm of inner derivations on $\mathbb{B}(\mathcal{H})$. We also characterize the parallel elements of a C^* -algebra by using states. Finally we utilize the linking algebra to give some equivalent assertions regarding parallel elements in a Hilbert C^* -module.

1 Introduction and Preliminaries

Let \mathscr{A} be a C^* -algebra. An element $a \in \mathscr{A}$ is called *positive* (we write $a \geq 0$) if $a = b^*b$ for some $b \in \mathscr{A}$. If $a \in \mathscr{A}$ is positive, then exists a unique positive element $b \in \mathscr{A}$ such that $a = b^2$. Such an element b is called *the positive square root* of a. A linear functional φ over \mathscr{A} of norm one is called *state* if $\varphi(a) \geq 0$ for any positive element $a \in \mathscr{A}$. By $S(\mathscr{A})$ we denote the set of all states of \mathscr{A} .

Throughout the paper, $\mathbb{K}(\mathscr{H})$ and $\mathbb{B}(\mathscr{H})$ denote the C^* -algebra of all compact operators and the C^* -algebra of all bounded linear operators on a complex Hilbert space \mathscr{H} endowed with an inner product $(\cdot | \cdot)$, respectively. We let *I* stand for the identity operator on \mathscr{H} . Furthermore, for $\xi, \eta \in \mathscr{H}$, the rank one operator $\xi \otimes \eta$ on \mathscr{H} is defined by $(\xi \otimes \eta)(\zeta) = (\zeta | \eta)\xi$. Note that by the Gelfand–Naimark theorem we can regard \mathscr{A} as a C^* -subalgebra of $\mathbb{B}(\mathscr{H})$ for a complex Hilbert space \mathscr{H} . More details can be found, *e.g.*, in [5, 15].

The notion of Hilbert C^* -module is a natural generalization of that of Hilbert space arising under replacement of the field of scalars \mathbb{C} by a C^* -algebra. This concept plays a significant role in the theory of operator algebras and *K*-theory; see [12]. Let \mathscr{A} be a C^* -algebra. An inner product \mathscr{A} -module is a complex linear space \mathscr{X} which is a right \mathscr{A} -module with a compatible scalar multiplication (*i.e.*, $\mu(xa) =$ $(\mu x)a = x(\mu a)$ for all $x \in \mathscr{X}$, $a \in \mathscr{A}$, $\mu \in \mathbb{C}$) and equipped with an \mathscr{A} -valued inner product $\langle \cdot, \cdot \rangle : \mathscr{X} \times \mathscr{X} \longrightarrow \mathscr{A}$ satisfying

- (i) $\langle x, \alpha y + \beta z \rangle = \alpha \langle x, y \rangle + \beta \langle x, z \rangle$,
- (ii) $\langle x, ya \rangle = \langle x, y \rangle a$,
- (iii) $\langle x, y \rangle^* = \langle y, x \rangle$,

Received by the editors March 11, 2014; revised May 17, 2014.

Published electronically September 26, 2014.

AMS subject classification: 47A30, 46L05, 46L08, 47B47, 15A60.

Keywords: C^* -algebra, approximate parallelism, operator parallelism, Hilbert C^* -module.

(iv) $\langle x, x \rangle \ge 0$ and $\langle x, x \rangle = 0$ if and only if x = 0,

for all $x, y, z \in \mathcal{X}$, $a \in \mathcal{A}$, $\alpha, \beta \in \mathbb{C}$. For an inner product \mathcal{A} -module \mathcal{X} the following Cauchy–Schwarz inequality holds (see [7] and references therein):

$$\|\langle x, y \rangle\|^2 \le \|\langle x, x \rangle\| \|\langle y, y \rangle\| \quad (x, y \in \mathscr{X}).$$

Consequently, $||x|| = ||\langle x, x \rangle||^{\frac{1}{2}}$ defines a norm on \mathscr{X} . If \mathscr{X} with respect to this norm is complete, then it is called a *Hilbert* \mathscr{A} -module, or a *Hilbert* C^* -module over \mathscr{A} . Complex Hilbert spaces are Hilbert \mathbb{C} -modules. Any C^* -algebra \mathscr{A} can be regarded as a Hilbert C^* -module over itself via $\langle a, b \rangle := a^*b$. For every $x \in \mathscr{X}$ the positive square root of $\langle x, x \rangle$ is denoted by |x|. If φ is a state over \mathscr{A} , we have the following useful version of the Cauchy–Schwarz inequality:

$$\varphi(\langle y, x \rangle)\varphi(\langle x, y \rangle) = |\varphi(\langle x, y \rangle)|^2 \le \varphi(\langle x, x \rangle)\varphi(\langle y, y \rangle)$$

for all $x, y \in \mathscr{X}$.

Let \mathscr{X} and \mathscr{Y} be two Hilbert \mathscr{A} -modules. A mapping $T: \mathscr{X} \to \mathscr{Y}$ is called adjointable if there exists a mapping $S: \mathscr{Y} \to \mathscr{X}$ such that $\langle Tx, y \rangle = \langle x, Sy \rangle$ for all $x \in \mathscr{X}, y \in \mathscr{Y}$. The unique mapping S is denoted by T^* and is called the *adjoint* of T. It is easy to see that T must be a bounded linear \mathscr{A} -module mapping. The space $\mathbb{B}(\mathscr{X}, \mathscr{Y})$ of all adjointable maps between Hilbert \mathscr{A} -modules \mathscr{X} and \mathscr{Y} is a Banach space, while $\mathbb{B}(\mathscr{X}) := \mathbb{B}(\mathscr{X}, \mathscr{X})$ is a C^* -algebra. By $\mathbb{K}(\mathscr{X}, \mathscr{Y})$ we denote the closed linear subspace of $\mathbb{B}(\mathscr{X}, \mathscr{Y})$ spanned by $\{\theta_{y,x} : x \in \mathscr{X}, y \in \mathscr{Y}\}$, where $\theta_{y,x}$ is defined by $\theta_{y,x}(z) = y \langle x, z \rangle$. Elements of $\mathbb{K}(\mathscr{X}, \mathscr{Y})$ are often referred to as "compact" operators. We write $\mathbb{K}(\mathscr{X})$ for $\mathbb{K}(\mathscr{X}, \mathscr{X})$.

Any Hilbert \mathscr{A} -module can be embedded into a certain C^* -algebra. To see this, let $\mathscr{X} \oplus \mathscr{A}$ be the direct sum of the Hilbert \mathscr{A} -modules \mathscr{X} and \mathscr{A} equipped with the \mathscr{A} -inner product $\langle (x, a), (y, b) \rangle = \langle x, y \rangle + a^*b$, for every $x, y \in \mathscr{X}, a, b \in \mathscr{A}$. Each $x \in \mathscr{X}$ induces the maps $r_x \in \mathbb{B}(\mathscr{A}, \mathscr{X})$ and $l_x \in \mathbb{B}(\mathscr{X}, \mathscr{A})$ given by $r_x(a) = xa$ and $l_x(y) = \langle x, y \rangle$, respectively, such that $r_x^* = l_x$. The map $x \mapsto r_x$ is an isometric linear isomorphism of \mathscr{X} to $\mathbb{K}(\mathscr{A}, \mathscr{X})$ and $x \mapsto l_x$ is an isometric conjugate linear isomorphism of \mathscr{X} to $\mathbb{K}(\mathscr{X}, \mathscr{A})$. Further, every $a \in \mathscr{A}$ induces the map $T_a \in \mathbb{K}(\mathscr{A})$ given by $T_a(b) = ab$. The map $a \mapsto T_a$ defines an isomorphism of C^* -algebras \mathscr{A} and $\mathbb{K}(\mathscr{A})$. Set

$$\mathbb{L}(\mathscr{X}) = \begin{bmatrix} \mathbb{K}(\mathscr{A}) & \mathbb{K}(\mathscr{X}, \mathscr{A}) \\ \mathbb{K}(\mathscr{A}, \mathscr{X}) & \mathbb{K}(\mathscr{X}) \end{bmatrix} = \left\{ \begin{bmatrix} T_a & l_y \\ r_x & T \end{bmatrix} : a \in \mathscr{A}, \, x, y \in \mathscr{X}, \, T \in \mathbb{K}(\mathscr{X}) \right\}$$

Then $\mathbb{L}(\mathscr{X})$ is a C^* -subalgebra of $\mathbb{K}(\mathscr{X} \oplus \mathscr{A})$, called the *linking algebra* of \mathscr{X} . Clearly

$$\mathscr{X} \simeq \begin{bmatrix} 0 & 0 \\ \mathscr{X} & 0 \end{bmatrix}, \quad \mathscr{A} \simeq \begin{bmatrix} \mathscr{A} & 0 \\ 0 & 0 \end{bmatrix}, \quad \mathbb{K}(\mathscr{X}) \simeq \begin{bmatrix} 0 & 0 \\ 0 & \mathbb{K}(\mathscr{X}) \end{bmatrix}.$$

Furthermore, $\langle x, y \rangle$ in \mathscr{X} becomes the product $l_x r_y$ in $\mathbb{L}(\mathscr{X})$ and the module multiplication of \mathscr{X} becomes a part of the internal multiplication of $\mathbb{L}(\mathscr{X})$. We refer the reader to [11,16] for more information on Hilbert C^* -modules and linking algebras.

Following Seddik [19] we introduce a notion of parallelism in normed spaces in Section 2. Inspired by the approximate Birkhoff–James orthogonality, called ε -orthogonality, introduced by Dragomir [6] and a variant of ε -orthogonality given

by Chmieliński [4] which has been investigated by Ilišević and Turnšek [10] in the setting of Hilbert C^* -modules, we introduce a notion of approximate parallelism (ε -parallelism).

In the following sections, we substantially restrict ourselves to the setting of Hilbert space operators equipped with the operator norm. In Section 3, we present several characterizations of the exact and approximate operator parallelism in the algebra $\mathbb{B}(\mathscr{H})$ of bounded linear operators acting on a Hilbert space \mathscr{H} . Among other things, we investigate the relationship between approximate parallelism and norm of inner derivations on $\mathbb{B}(\mathscr{H})$. In Section 4, we characterize the parallel elements of a C^* -algebra by using states and utilize the linking algebra to give some equivalent assertions regarding parallel elements in a Hilbert C^* -module.

2 Parallelism in Normed Spaces

We start our work with the following definition of parallelism in normed spaces.

Definition 2.1 Let \mathcal{V} be a normed space. The vector $x \in \mathcal{V}$ is *exact parallel* or simply *parallel* to $y \in \mathcal{V}$, denoted by $x \parallel y$ (see [19]), if

(2.1)
$$||x + \lambda y|| = ||x|| + ||y||$$
, for some $\lambda \in \mathbb{T} = \{\alpha \in \mathbb{C} : |\alpha| = 1\}.$

Notice that the parallelism is a symmetric relation. It is easy to see that if x, y are linearly dependent, then $x \parallel y$. The converse is however not true, in general.

Example 2.2 Let us consider the space $(\mathbb{R}^2, ||| \cdot |||)$, where

$$|||(x_1, x_2)||| = \max\{|x_1|, |x_2|\}$$

for all $(x_1, x_2) \in \mathbb{R}^2$. Let x = (1, 0), y = (1, 1) and $\lambda = 1$. Then x, y are linearly independent and $|||x + \lambda y||| = |||(2, 1)||| = 2 = |||x||| + |||y|||$, *i.e.*, x ||y|.

An operator *T* on a separable complex Hilbert space is said to be in the Schatten *p*-class \mathcal{C}_p $(1 \le p < \infty)$, if $\operatorname{tr}(|T|^p) < \infty$, where tr denotes the usual trace. The Schatten *p*-norm of *T* is defined by $||T||_p = (\operatorname{tr}(|T|^p))^{\frac{1}{p}}$. For $1 and <math>\frac{1}{p} + \frac{1}{q} = 1$, the Clarkson inequality for $T, S \in \mathcal{C}_p$ asserts that

$$||T + S||_p^q + ||T - S||_p^q \le 2(||T||_p^p + ||S||_p^p)^{\frac{q}{p}},$$

which can be found in [13].

Theorem 2.3 Let $T, S \in \mathbb{C}_p$ with $1 and <math>\frac{1}{p} + \frac{1}{q} = 1$. The following statements are equivalent:

(i) *T*, *S* are linearly dependent;

(ii) $T \parallel S$.

Proof Obviously, (i) \Rightarrow (ii).

Suppose (ii) holds. Therefore $||T + \lambda S||_p = ||T||_p + ||S||_p$ for some $\lambda \in \mathbb{T}$. Without loss of generality we may assume that $||T||_p \le ||S||_p$. We have

$$2\|T\|_{p} = \|T\|_{p} + \left\|\frac{\lambda\|T\|_{p}}{\|S\|_{p}}S\right\|_{p} \ge \left\|T + \frac{\lambda\|T\|_{p}}{\|S\|_{p}}S\right\|_{p}$$

$$= \left\|T + \lambda S - \lambda \left(1 - \frac{\|T\|_{p}}{\|S\|_{p}}\right)S\right\|_{p} \ge \|T + \lambda S\|_{p} - \left(1 - \frac{\|T\|_{p}}{\|S\|_{p}}\right)\|S\|_{p}$$

$$= \|T\|_{p} + \|S\|_{p} - \left(1 - \frac{\|T\|_{p}}{\|S\|_{p}}\right)\|S\|_{p} = 2\|T\|_{p},$$

so $||T + \frac{\lambda ||T||_p}{||S||_p} S||_p = 2||T||_p$. Hence by the Clarkson inequality we get

$$2^{q} \|T\|_{p}^{q} + \left\|T - \frac{\lambda \|T\|_{p}}{\|S\|_{p}}B\right\|_{p}^{q} = \left\|T + \frac{\lambda \|T\|_{p}}{\|S\|_{p}}S\right\|_{p}^{q} + \left\|T - \frac{\lambda \|T\|_{p}}{\|S\|_{p}}S\right\|_{p}^{q}$$
$$\leq 2\left(\left\|T\right\|_{p}^{p} + \left\|\frac{\lambda \|T\|_{p}}{\|S\|_{p}}S\right\|_{p}^{p}\right)^{\frac{q}{p}} = 2^{1+\frac{q}{p}}\|T\|_{p}^{q} = 2^{q}\|T\|_{p}^{q}$$

where from we get $||T - \frac{\lambda ||T||_p}{||S||_p} S||_p^q = 0$. Hence $T = \frac{\lambda ||T||_p}{||S||_p} S$, which gives (i).

The following important example is the motivation for further discussion.

Example 2.4 If τ_1, τ_2 are positive linear functionals on a C^* -algebra \mathscr{A} . Then for $\lambda = 1 \in \mathbb{T}$, by [15, Corollary 3.3.5] we have $\|\tau_1 + \lambda \tau_2\| = \|\tau_1\| + \|\tau_2\|$. So $\tau_1 \| \tau_2$.

Example 2.5 Suppose that τ is a self-adjoint bounded linear functional on a C^* -algebra. By the Jordan Decomposition Theorem [15, Theorem 3.3.10], there exist positive linear functionals τ_+, τ_- such that $\tau = \tau_+ - \tau_-$ and $\|\tau\| = \|\tau_+\| + \|\tau_-\|$. Thus for $\lambda = -1 \in \mathbb{T}$ we have $\|\tau_+ + \lambda \tau_-\| = \|\tau_+\| + \|\tau_-\|$. Hence $\tau_+ \|\tau_-$.

For every $\varepsilon \in [0, 1)$, the following notion of approximate Birkhoff–James orthogonality (ε -orthogonality) was introduced by Dragomir [6] as

$$x \perp^{\varepsilon} y \iff ||x + \lambda y|| \ge (1 - \varepsilon)||x|| \quad (\lambda \in \mathbb{C}).$$

In addition, an alternative definition of ε -orthogonality was given by Chmieliński [4]. These facts motivate us to give the following definition of approximate parallelism (ε -parallelism) in the setting of normed spaces.

Definition 2.6 Two elements *x* and *y* in a normed space are *approximate parallel* (ε -*parallel*), denoted by $x \parallel^{\varepsilon} y$, if

(2.2)
$$\inf\{\|x + \mu y\| : \mu \in \mathbb{C}\} \le \varepsilon \|x\|.$$

It is remarkable that the relation ε -parallelism for $\varepsilon = 0$ is the same as the exact parallelism.

Proposition 2.7 In a normed space, 0-parallelism is the same as exact parallelism.

Proof Let us assume that $x \neq 0$ and choose a sequence $\{\mu_n\}$ of vectors in \mathbb{C} such that $\lim_{n\to\infty} ||x + \mu_n y|| = 0$. It follows from $|\mu_n| ||y|| \leq ||x + \mu_n y|| + ||x||$ that the sequence $\{\mu_n\}$ is bounded. Therefore there exists a subsequence $\{\mu_{k_n}\}$ which is convergent to a number μ_0 . Since $x \neq 0$ and $\lim_{n\to\infty} ||x + \mu_n y|| = 0$, we conclude that $\mu_0 \neq 0$ as well as $||x + \mu_0 y|| = 0$, or equivalently, $x = -\mu_0 y$. Put $\lambda = -\frac{|\mu_0|}{\mu_0} \in \mathbb{T}$. Then

$$\|x + \lambda y\| = \left\| -\mu_0 y - \frac{|\mu_0|}{\overline{\mu_0}} y \right\| = (|\mu_0| + 1) \|y\| = \| - \mu_0 y\| + \|y\| = \|x\| + \|y\|,$$

whence $||x + \lambda y|| = ||x|| + ||y||$ for some $\lambda \in \mathbb{T}$, *i.e.*, x || y.

From now on we deal merely with the space $\mathbb{B}(\mathscr{H})$ endowed with the operator norm.

3 Operator Parallelism

In the present section, we discuss exact and approximate operator parallelism. These notions can be defined by the same formulas as (2.1) and (2.2) in normed spaces. Thus

$$T_1 \parallel T_2 \Leftrightarrow \parallel T_1 + \lambda T_2 \parallel = \parallel T_1 \parallel + \parallel T_2 \parallel$$

for some $\lambda \in \mathbb{T}$. The following example shows that the concept of operator parallelism is important.

Example 3.1 Suppose that *T* is a compact self-adjoint operator on a Hilbert space \mathscr{H} . Then either ||T|| or -||T|| is an eigenvalue of *T*. We may assume that ||T|| = 1 is an eigenvalue of *T*. Therefore there exists a nonzero vector $x \in \mathscr{H}$ such that Tx = x. Hence $2||x|| = ||(T+I)x|| \le ||T+I|| ||x|| \le 2||x||$. So we get ||T+I|| = 2 = ||T|| + ||I||. Thus T ||I| and *T* fulfils the Daugavet equation ||T + I|| = ||T|| + 1; see [20]. This shows that the Daugavet equation is closely related to the notion of parallelism.

In the following proposition we state some basic properties of operator parallelism.

Proposition 3.2 Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$. The following statements are equivalent:

 $\begin{array}{ll} (i) & T_1 \parallel T_2; \\ (ii) & T_1^* \parallel T_2^*; \\ (iii) & \alpha T_1 \parallel \beta T_2 \ (\alpha, \beta \in \mathbb{R} \smallsetminus \{0\}); \\ (iv) & \gamma T_1 \parallel \gamma T_2 \ (\gamma \in \mathbb{C} \smallsetminus \{0\}). \end{array}$

Proof The equivalences (i) \Leftrightarrow (ii) \Leftrightarrow (iv) immediately follow from the definition of operator parallelism.

A. Zamani and M. S. Moslehian

(i) \Rightarrow (iii): Suppose that $\alpha, \beta \in \mathbb{R} \setminus \{0\}$ and $T_1 \parallel T_2$. Hence $\|T_1 + \lambda T_2\| =$ $||T_1|| + ||T_2||$ for some $\lambda \in \mathbb{T}$. We can assume that $\alpha \ge \beta > 0$. We therefore have

$$\|\alpha T_1\| + \|\beta T_2\| \ge \|\alpha T_1 + \lambda(\beta T_2)\| = \|\alpha(T_1 + \lambda T_2) - (\alpha - \beta)(\lambda T_2)\|$$

$$\ge \|\alpha(T_1 + \lambda T_2)\| - \|(\alpha - \beta)\lambda T_2\|$$

$$= \alpha\|T_1 + \lambda T_2\| - (\alpha - \beta)\|T_2\|$$

$$= \alpha(\|T_1\| + \|T_2\|) - (\alpha - \beta)\|T_2\|$$

$$= \|\alpha T_1\| + \|\beta T_2\|,$$

whence $\|\alpha T_1 + \lambda(\beta T_2)\| = \|\alpha T_1\| + \|\beta T_2\|$ for some $\lambda \in \mathbb{T}$. So $\alpha T_1 \|\beta T_2$. (iii) \Rightarrow (i) is obvious.

In what follows, $\sigma(T)$ and r(T) stand for the spectrum and spectral radius, respectively, of an arbitrary element $T \in \mathbb{B}(\mathcal{H})$. In the following theorem we shall characterize operator parallelism.

Theorem 3.3 Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$. Then the following statements are equivalent:

- (i) $T_1 \parallel T_2$.
- *There exist a sequence of unit vectors* $\{\xi_n\}$ *in* \mathscr{H} *and* $\lambda \in \mathbb{T}$ *such that* (ii)

$$\lim_{n \to \infty} (T_1 \xi_n \mid T_2 \xi_n) = \lambda \|T_1\| \|T_2\|.$$

- (iii) $r(T_2^*T_1) = ||T_2^*T_1|| = ||T_1|| ||T_2||.$
- (iv) $T_1^*T_1 \parallel T_1^*T_2$ and $\|T_1^*T_2\| = \|T_1\| \|T_2\|$. (v) $\|T_1^*(T_1 + \lambda T_2)\| = \|T_1\|(\|T_1\| + \|T_2\|)$ for some $\lambda \in \mathbb{T}$.

Proof (i) \Leftrightarrow (ii): Let $T_1 \parallel T_2$. Then $\parallel T_1 + \lambda T_2 \parallel = \parallel T_1 \parallel + \parallel T_2 \parallel$ for some $\lambda \in \mathbb{T}$. Since

$$\sup\{\|T_1\xi + \lambda T_2\xi\| : \xi \in \mathcal{H}, \|\xi\| = 1\} = \|T_1 + \lambda T_2\| = \|T_1\| + \|T_2\|,$$

there exists a sequence of unit vectors $\{\xi_n\}$ in \mathscr{H} such that $\lim_{n\to\infty} ||T_1\xi_n + \lambda T_2\xi_n|| =$ $||T_1|| + ||T_2||$. We have

$$\begin{aligned} \|T_1\|^2 + 2\|T_1\| \|T_2\| + \|T_2\|^2 \\ &= \lim_{n \to \infty} \|T_1\xi_n + \lambda T_2\xi_n\|^2 \\ &= \lim_{n \to \infty} [\|T_1\xi_n\|^2 + (T_1\xi_n \mid \lambda T_2\xi_n) + (\lambda T_2\xi_n \mid T_1\xi_n) + \|T_2\xi_n\|^2] \\ &\leq \|T_1\|^2 + 2\lim_{n \to \infty} |(T_1\xi_n \mid \lambda T_2\xi_n)| + \|T_2\|^2 \\ &\leq \|T_1\|^2 + 2\|T_1\| \|T_2\| + \|T_2\|^2. \end{aligned}$$

Therefore $\lim_{n\to\infty} (T_1\xi_n \mid \lambda T_2\xi_n) = ||T_1|| ||T_2||$, or equivalently,

$$\lim_{n \to \infty} (T_1 \xi_n \mid T_2 \xi_n) = \lambda \|T_1\| \|T_2\|.$$

To prove the converse, suppose that there exist a sequence of unit vectors $\{\xi_n\}$ in \mathscr{H} and $\lambda \in \mathbb{T}$ such that $\lim_{n\to\infty} (T_1\xi_n \mid T_2\xi_n) = \lambda ||T_1|| ||T_2||$. It follows from

$$||T_1|| ||T_2|| = \lim_{n \to \infty} |(T_1\xi_n | T_2\xi_n)| \le \lim_{n \to \infty} ||T_1\xi_n|| ||T_2|| \le ||T_1|| ||T_2||$$

that $\lim_{n\to\infty} ||T_1\xi_n|| = ||T_1||$, and by using a similar argument, $\lim_{n\to\infty} ||T_2\xi_n|| = ||T_2||$. So that

$$\lim_{n \to \infty} \Re(T_1 \xi_n \mid \lambda T_2 \xi_n) = \lim_{n \to \infty} (T_1 \xi_n \mid \lambda T_2 \xi_n) = \|T_1\| \|T_2\|$$

whence we reach

$$||T_1|| + ||T_2|| \ge ||T_1 + \lambda T_2|| \ge (\lim_{n \to \infty} ||T_1\xi_n + \lambda T_2\xi_n||^2)^{\frac{1}{2}}$$

= $(\lim_{n \to \infty} [||T_1\xi_n||^2 + 2\Re(T_1\xi_n | \lambda T_2\xi_n) + ||T_2\xi||^2])^{\frac{1}{2}}$
= $(||T_1||^2 + 2||T_1|| ||T_2|| + ||T_2||^2)^{\frac{1}{2}} = ||T_1|| + ||T_2||.$

Thus $||T_1 + \lambda T_2|| = ||T_1|| + ||T_2||$, so $T_1 || T_2$.

(ii) \Leftrightarrow (iii): Let $\{\xi_n\}$ be a sequence of unit vectors in \mathscr{H} satisfying $\lim_{n\to\infty} (T_1\xi_n \mid T_2\xi_n) = \lambda \|T_1\| \|T_2\|$, for some $\lambda \in \mathbb{T}$. By the equivalence (i) \Leftrightarrow (ii) we have $T_1 \| T_2$. Hence

$$(||T_1|| + ||T_2||)^2 = ||T_1 + \lambda T_2||^2 = ||(T_1 + \lambda T_2)^*(T_1 + \lambda T_2)||$$

= $||T_1^*T_1 + \lambda T_1^*T_2 + \overline{\lambda} T_2^*T_1 + T_2^*T_2||$
 $\leq ||T_1^*T_1|| + ||\lambda T_1^*T_2|| + ||\overline{\lambda} T_2^*T_1|| + ||T_2^*T_2||$
= $||T_1||^2 + 2||T_1|| ||T_2|| + ||T_2||^2$
= $(||T_1|| + ||T_2||)^2$,

so $||T_1^*T_2|| = ||T_1|| ||T_2||$. Since

$$\begin{aligned} \|T_1\| \|T_2\| &= \lim_{n \to \infty} |(T_1\xi_n | T_2\xi_n)| = \lim_{n \to \infty} |(T_2^*T_1\xi_n | \xi_n)| \\ &\leq \lim_{n \to \infty} \|T_2^*T_1\xi_n\| \le \|T_2^*\| \|T_1\| = \|T_1\| \|T_2\|, \end{aligned}$$

we have $\lim_{n\to\infty} ||T_2^*T_1\xi_n|| = ||T_1|| ||T_2||$. Next observe that

$$\left\| (T_2^*T_1 - \lambda \| T_1 \| \| T_2 \| I) \xi_n \right\|^2 = \| T_2^*T_1\xi_n \|^2 - \overline{\lambda} \| T_1 \| \| T_2 \| (T_1\xi_n | T_2\xi_n) - \lambda \| T_1 \| \| T_2 \| (T_2\xi_n | T_1\xi_n) + \| T_1 \|^2 \| T_2 \|^2.$$

Therefore $\lim_{n\to\infty} \left\| (T_2^*T_1 - \lambda \| T_1 \| \| T_2 \| I) \xi_n \right\| = 0$. Thus $r(T_2^*T_1) = \| T_1 \| \| T_2 \| = \| T_2^*T_1 \|$.

The proof of the converse follows from the spectral inclusion theorem [9, Theorem 1.2-1] that $\sigma(T_2^*T_1) \subseteq \overline{\{(T_2^*T_1\xi \mid \xi) : \xi \in \mathscr{H}, \|\xi\| = 1\}}$, where the bar denotes closure.

(ii) \Rightarrow (iv): Let $\{\xi_n\}$ be a sequence of unit vectors in \mathscr{H} which satisfies

$$\lim_{n \to \infty} (T_1 \xi_n \mid T_2 \xi_n) = \lambda \|T_1\| \|T_2\|,$$

for some $\lambda \in \mathbb{T}$. As in the proofs of the implications (ii) \Rightarrow (i) and (ii) \Rightarrow (iii), we get $||T_1 + \lambda T_2|| = ||T_1|| + ||T_2||$ and $||T_1^*T_2|| = ||T_1|| + ||T_2||$. By [15, Theorem 3.3.6] there is a state φ over $\mathbb{B}(\mathscr{H})$ such that

$$\varphi((T_1 + \lambda T_2)^*(T_1 + \lambda T_2)) = \|(T_1 + \lambda T_2)^*(T_1 + \lambda T_2)\|$$

= $\|T_1 + \lambda T_2\|^2 = (\|T_1\| + \|T_2\|)^2$.

Thus

$$(||T_1|| + ||T_2||)^2 = \varphi(T_1^*T_1 + \lambda T_1^*T_2 + \overline{\lambda}T_2^*T_1 + T_2^*T_2)$$

= $\varphi(T_1^*T_1) + \varphi(\lambda T_1^*T_2 + \overline{\lambda}T_2^*T_1) + \varphi(T_2^*T_2)$
 $\leq ||T_1^*T_1|| + ||\lambda T_1^*T_2 + \overline{\lambda}T_2^*T_1|| + ||T_2^*T_2||$
= $||T_1^*T_1|| + ||T_1^*T_2|| + ||T_2^*T_1|| + ||T_2^*T_2||$
 $\leq ||T_1||^2 + 2||T_1|| ||T_2|| + ||T_2||^2$
= $(||T_1|| + ||T_2||)^2.$

Therefore $\varphi(T_1^*T_1) = ||T_1^*T_1||$ and $\varphi(\lambda T_1^*T_2) = ||T_1^*T_2||$. Hence

$$||T_1^*T_1|| + ||T_1^*T_2|| = \varphi(T_1^*T_1 + \lambda T_1^*T_2) \le ||T_1^*T_1 + \lambda T_1^*T_2|| \le ||T_1^*T_1|| + ||T_1^*T_2||.$$

Therefore, $||T_1^*T_1 + \lambda T_1^*T_2|| = ||T_1^*T_1|| + ||T_1^*T_2||$ for some $\lambda \in \mathbb{T}$. Thus $T_1^*T_1 || T_1^*T_2$. (iv) \Rightarrow (v): This implication is trivial.

 $(\mathbf{v}) \Rightarrow (\mathbf{i})$: Let $||T_1^*(T_1 + \lambda T_2)|| = ||T_1||(||T_1|| + ||T_2||)$ for some $\lambda \in \mathbb{T}$. Then we have

 $||T_1||(||T_1|| + ||T_2||) \ge ||T_1^*|| ||T_1 + \lambda T_2|| \ge ||T_1^*(T_1 + \lambda T_2)|| = ||T_1||(||T_1|| + ||T_2||).$ Thus $||T_1 + \lambda T_2|| = ||T_1|| + ||T_2||$, or equivalently, $T_1 || T_2$.

As an immediate consequence of Theorem 3.3, we get a characterization of operator parallelism.

Corollary 3.4 Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$. Then the following statements are equivalent: (i) $T_1 \parallel T_2.$

(ii) $T_i^*T_i \parallel T_j^*T_i$ and $\|T_j^*T_i\| = \|T_j\| \|T_i\| (1 \le i \ne j \le 2).$

(iii) $T_i T_i^* \parallel T_i T_j^*$ and $\parallel T_i T_j^* \parallel = \parallel T_i \parallel \parallel T_j \parallel (1 \le i \ne j \le 2).$

Corollary 3.5 Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$. Then the following statements are equivalent:

- (i) $T_1 \parallel T_2.$
- (ii) $r(T_2^*T_1) = ||T_2^*T_1|| = ||T_1|| ||T_2||.$ (iii) $r(T_1T_2^*) = ||T_1T_2^*|| = ||T_1|| ||T_2||.$

We need the next lemma for studying approximate parallelism.

Lemma 3.6 ([1, Proposition 2.1]) Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$. Then

$$\inf\{\|T_1 + \mu T_2\|^2 : \mu \in \mathbb{C}\} = \sup\{M_{T_1, T_2}(\xi) : \xi \in \mathbb{C}, \|\xi\| = 1\},\$$

where

$$M_{T_1,T_2}(\xi) = \begin{cases} \|T_1\xi\|^2 - \frac{|(T_1\xi|T_2\xi)|^2}{\|T_2\xi\|^2} & \text{if } T_2\xi \neq 0, \\ \|T_1\xi\|^2 & \text{if } T_2\xi = 0. \end{cases}$$

In the following proposition we present a characterization of operator ε -parallelism, $\|\varepsilon$. Recall that for $T_1, T_2 \in \mathbb{B}(\mathscr{H})$ and $\varepsilon \in [0, 1)$, we have $T_1 \|\varepsilon T_2$ if $\inf\{\|T_1 + \mu T_2\| : \mu \in \mathbb{C}\} \le \varepsilon \|T_1\|.$

https://doi.org/10.4153/CMB-2014-029-4 Published online by Cambridge University Press

Theorem 3.7 Let $T_1, T_2 \in \mathbb{B}(\mathcal{H})$ and $\varepsilon \in [0, 1)$. Then the following statements are equivalent:

(i) $T_1 \parallel^{\varepsilon} T_2$. (ii) $T_1^* \parallel^{\varepsilon} T_2^*$. (iii) $\alpha T_1 \parallel^{\varepsilon} \beta T_2$, $(\alpha, \beta \in \mathbb{C} \setminus \{0\})$. (iv) $\sup\{|(T_1\xi \mid \eta)| : \|\xi\| = \|\eta\| = 1, (T_2\xi \mid \eta) = 0\} \le \varepsilon \|T_1\|$. *Moreover, each of the above conditions implies*

(v) $|(T_1\xi | T_2\xi)|^2 \ge ||T_1\xi||^2 ||T_2\xi||^2 - \varepsilon^2 ||T_1||^2 ||T_2||^2, (\xi \in \mathscr{H}, ||\xi|| = 1).$

Proof (i) \Leftrightarrow (ii) is obvious.

(i) \Leftrightarrow (iii): Let $T_1 \parallel^{\varepsilon} T_2$ and $\alpha, \beta \in \mathbb{C} \setminus \{0\}$. Then

$$\inf\{\|\alpha T_1 + \mu(\beta T_2)\| : \mu \in \mathbb{C}\} = |\alpha| \inf\{\left\|T_1 + \frac{\mu\beta}{\alpha}T_2\right\| : \mu \in \mathbb{C}\}$$
$$\leq |\alpha| \inf\{\|T_1 + \nu T_2\| : \nu \in \mathbb{C}\}$$
$$\leq |\alpha|\varepsilon\|T_1\| = \varepsilon\|\alpha T_1\|.$$

Therefore, $\alpha T_1 \parallel^{\varepsilon} \beta T_2$. The converse is obvious.

(i) \Leftrightarrow (iv): Bhatia and Šemrl [3, Remark 3.1] proved that

 $\inf\{\|T_1 + \mu T_2\| : \mu \in \mathbb{C}\} = \sup\{|(T_1\xi \mid \eta)| : \|\xi\| = \|\eta\| = 1, (T_2\xi \mid \eta) = 0\}.$

Thus the required equivalence follows from the above equality.

Now suppose that $T_1 \parallel^{\varepsilon} T_2$. Hence $\inf\{\|T_1 + \mu T_2\| : \mu \in \mathbb{C}\} \le \varepsilon \|T_1\|$. For any $\xi \in \mathscr{H}$ with $\|\xi\| = 1$, by Lemma 3.6, we therefore get

$$\begin{aligned} \|T_1\xi\|^2 \|T_2\xi\|^2 - |(T_1\xi | T_2\xi)|^2 &\leq \|T_2\xi\|^2 \inf\{\|T_1 + \mu T_2\|^2 : \mu \in \mathbb{C}\}\\ &\leq \|T_2\xi\|^2\varepsilon^2 \|T_1\|^2 \leq \varepsilon^2 \|T_1\|^2 \|T_2\|^2 \|\xi\|^2\\ &= \varepsilon^2 \|T_1\|^2 \|T_2\|^2. \end{aligned}$$

In the following result we establish some equivalent statements to the approximate parallelism for elements of a Hilbert space. We use some techniques of [14, Corollary 2.7] to prove this corollary.

Corollary 3.8 Let $\xi, \eta \in \mathcal{H}$. Then for any $\varepsilon \in [0, 1)$ the following statements are equivalent:

 $\begin{array}{ll} \text{(i)} & \xi \parallel^{\varepsilon} \eta. \\ \text{(ii)} & \sup\{|(\xi \mid \zeta)| : \zeta \in \mathscr{H}, \|\zeta\| = 1, (\eta \mid \zeta) = 0\} \le \varepsilon \|\xi\|. \\ \text{(iii)} & |(\xi \mid \eta)| \ge \sqrt{1 - \varepsilon^2} \|\xi\| \|\eta\|. \\ \text{(iv)} & \left\| \|\eta\|^2 \xi - (\xi \mid \eta)\eta \right\| \le \varepsilon \|\xi\| \|\eta\|^2. \end{array}$

Proof Let ψ be a unit vector of \mathscr{H} and set $T_1 = \xi \otimes \psi$ and $T_2 = \eta \otimes \psi$ as rank one operators. A straightforward computation shows that $\xi \parallel^{\varepsilon} \eta$ if and only if $T_1 \parallel^{\varepsilon} T_2$. It follows from the elementary properties of rank one operators and Lemma 3.6 that

$$M_{T_1,T_2}(\xi) = \begin{cases} |(\xi \mid \psi)|^2 (||\xi||^2 - \frac{|(\xi|\eta)|^2}{||\eta||^2}) & \text{if } (\xi \mid \psi)\eta \neq 0, \\ |(\xi \mid \psi)|^2 ||\xi||^2 & \text{if } (\xi \mid \psi)\eta = 0. \end{cases}$$

Thus we reach

$$\begin{split} \xi \parallel^{\varepsilon} \eta \Leftrightarrow T_{1} \parallel^{\varepsilon} T_{2} \\ \Leftrightarrow \sup\{M_{T_{1},T_{2}}(\xi): \xi \in \mathbb{C}, \|\xi\| = 1\} \leq \varepsilon^{2} \|T_{1}\|^{2} \\ \Leftrightarrow \|\xi\|^{2} \|\eta\|^{2} - |(\xi \mid \eta)|^{2} \leq \varepsilon^{2} \|\xi\|^{2} \|\eta\|^{2} \\ \Leftrightarrow |(\xi \mid \eta)| \geq \sqrt{1 - \varepsilon^{2}} \|\xi\| \|\eta\| \\ \Leftrightarrow \|\|\eta\|^{2} \xi - (\xi \mid \eta)\eta\| \leq \varepsilon \|\xi\| \|\eta\|^{2}. \end{split}$$

Further, by the equivalence (i) \Leftrightarrow (iv) of Theorem 3.7 yields

$$\begin{split} \xi \parallel^{\varepsilon} \eta \Leftrightarrow T_1 \parallel^{\varepsilon} T_2 \\ \Leftrightarrow \sup\{ |(T_1\omega \mid \zeta)| : \|\omega\| = \|\zeta\| = 1, (T_2\omega \mid \zeta) = 0 \} \le \varepsilon \|T_1\| \\ \Leftrightarrow \sup\{ |(\omega \mid \psi)| \, |(\xi \mid \zeta)| : \|\omega\| = \|\zeta\| = 1, (\omega \mid \psi)(\eta \mid \zeta) = 0 \} \le \varepsilon \|\xi\| \\ \Leftrightarrow \sup\{ |(\xi \mid \zeta)| : \zeta \in \mathscr{H}, \|\zeta\| = 1, (\eta \mid \zeta) = 0 \} \le \varepsilon \|\xi\|. \end{split}$$

Remark 3.9 If we choose $\varepsilon = 0$ in Corollary 3.8, we reach the fact that two vectors in a Hilbert space are parallel if and only if they are proportional.

Next, we investigate the case when an operator is parallel to the identity operator.

Theorem 3.10 Let $T \in \mathbb{B}(\mathcal{H})$. Then the following statements are equivalent:

- (i) $T \parallel I$.
- (ii) $T \parallel T^*$.

(iii) There exists a sequence of unit vectors $\{\xi_n\}$ in \mathscr{H} and $\lambda \in \mathbb{T}$ such that

$$\lim_{n\to\infty} \left\| T\xi_n - \lambda \|T\|\xi_n \right\| = 0.$$

(iv) $T^m \parallel I \ (m \in \mathbb{N}).$ (v) $T^m \parallel T^{*^m} \ (m \in \mathbb{N}).$

Proof (i) \Leftrightarrow (ii): Let $T \parallel I$. Then $\parallel T + \lambda I \parallel = \parallel T \parallel + 1$ for some $\lambda \in \mathbb{T}$. By [15, Theorem 3.3.6] there is a state φ over $\mathbb{B}(\mathscr{H})$ such that

$$\varphi((T + \lambda I)(T + \lambda I)^*) = \|(T + \lambda I)(T + \lambda I)^*\| = \|T + \lambda I\|^2 = (\|T\| + 1)^2$$

Thus

$$(||T|| + 1)^{2} = \varphi((T + \lambda I)(T + \lambda I)^{*}) = \varphi(TT^{*}) + \varphi(\overline{\lambda}T) + \varphi(\lambda T^{*}) + 1$$

$$\leq ||TT^{*}|| + ||\overline{\lambda}T|| + ||\lambda T^{*}|| + 1 = ||T||^{2} + 2||T|| + 1 = (||T|| + 1)^{2}.$$

Therefore $\varphi(\overline{\lambda}T) = \varphi(\lambda T^*) = ||T||$. This implies that

$$||T|| + ||T^*|| = \varphi(\overline{\lambda}T + \lambda T^*) \le ||\overline{\lambda}T + \lambda T^*|| = ||T + \lambda^2 T^*|| \le ||T|| + ||T^*||.$$

Therefore $||T + \lambda^2 T^*|| = ||T|| + ||T^*||$, in which $\lambda^2 \in \mathbb{T}$. Thus $T || T^*$.

To prove the converse, suppose that $T \parallel T^*$, or equivalently, $\|T + \lambda T^*\| = 2\|T\|$ for some $\lambda \in \mathbb{T}$. By [15, Theorem 3.3.6] there is a state φ over $\mathbb{B}(\mathscr{H})$ such that $|\varphi(T + \lambda T^*)| = \|T + \lambda T^*\| = 2\|T\|$. Thus we get

$$2||T|| = |\varphi(T + \lambda T^*)| \le 2|\varphi(T)| \le 2||T||,$$

from which it follows that $|\varphi(T)| = ||T||$. Hence there exists a number $\mu \in \mathbb{T}$ such that $\varphi(T) = \mu ||T||$. Therefore

$$||T|| + 1 = \varphi(\overline{\mu}T + I) \le ||\overline{\mu}T + I|| = ||T + \mu I|| \le ||T|| + 1,$$

whence $||T + \mu I|| = ||T|| + 1$ for $\mu \in \mathbb{T}$. Thus T || I.

(i) \Leftrightarrow (iii): Let $T \parallel I$. By Theorem 3.3, there exist a sequence of unit vectors $\{\xi_n\}$ in \mathscr{H} and $\lambda \in \mathbb{T}$ such that $\lim_{n\to\infty} (T\xi_n \mid \xi_n) = \lambda \parallel T \parallel$. Since $\parallel T \parallel = \lim_{n\to\infty} |(T\xi_n \mid \xi_n)| \le \lim_{n\to\infty} \|T\xi_n\| \le \|T\|$, hence $\lim_{n\to\infty} \|T\xi_n\| = \|T\|$. Thus

$$\begin{split} \lim_{n \to \infty} \left\| T\xi_n - \lambda \|T\|\xi_n \right\|^2 \\ &= \lim_{n \to \infty} [\|T\xi_n\|^2 - \overline{\lambda} \|T\| (T\xi_n \mid \xi_n) - \lambda \|T\| (\xi_n \mid T\xi_n) + \|T\|^2] \\ &= \|T\|^2 - |\lambda|^2 \|T\|^2 - |\lambda|^2 \|T\|^2 + \|T\|^2 = 0. \end{split}$$

So that $\lim_{n\to\infty} ||T\xi_n - \lambda||T||\xi_n|| = 0.$

Conversely, suppose that (iii) holds. Then

$$1 + ||T|| \ge ||T + \lambda I|| \ge ||T\xi_n + \lambda\xi_n|| = ||\lambda\xi_n + \lambda||T||\xi_n - (-T\xi_n + \lambda||T||\xi_n)||$$

$$\ge ||\lambda\xi_n + \lambda||T||\xi_n|| - ||-T\xi_n + \lambda||T||\xi_n||$$

$$= 1 + ||T|| - ||T\xi_n - \lambda||T||\xi_n||.$$

Taking limits, we get

 $1 + ||T|| \ge ||T + \lambda I|| \ge 1 + ||T||,$

so $||T + \lambda I|| = 1 + ||T||$, *i.e.*, T || I.

(iii) \Rightarrow (iv): Let there exist a sequence of unit vectors $\{\xi_n\}$ in \mathscr{H} and $\lambda \in \mathbb{T}$ such that $\lim_{n\to\infty} ||T\xi_n - \lambda||T||\xi_n|| = 0$. For any $k \in \mathbb{N}$ we have

$$\| (T^{k+1} - \lambda^{k+1} \|T\|^{k+1}I)\xi_n \| = \| T(T^k - \lambda^k \|T\|^k I)\xi_n + \lambda^k \|T\|^k (T - \lambda \|T\|I)\xi_n \|$$

$$\leq \|T\| \| (T^k - \lambda^k \|T\|^k I)\xi_n \| + \|T\|^k \| (T - \lambda \|T\|I)\xi_n \|.$$

Hence, by induction, we have

$$\lim_{n \to \infty} \left\| \left(T^m - \lambda^m \| T \|^m I \right) \xi_n \right\| = 0$$

for all $m \in \mathbb{N}$. We get $||T||^m \le r(T^m) \le ||T^m|| \le ||T||^m$. Hence $||T||^m = ||T^m||$. Now for $\mu = \lambda^m \in \mathbb{T}$ we have

$$\lim_{n \to \infty} \left\| T^m \xi_n - \mu \| T^m \| \xi_n \right\| = \lim_{n \to \infty} \left\| (T^m - \lambda^m \| T \|^m I) \xi_n \right\| = 0.$$

So by the equivalence (i) \Leftrightarrow (iii), we get $T^m \parallel I$.

The implications (iv) \Rightarrow (v) and (v) \Rightarrow (i), follow from the equivalence (i) \Leftrightarrow (ii).

For $T \in \mathbb{B}(\mathcal{H})$ the operator $\delta_T(S) = TS - ST$ over $\mathbb{B}(\mathcal{H})$ is called an *inner derivation*. Clearly 2||T|| is a upper bound for $||\delta_T||$. In the next result, we get a characterization of operator ε -parallelism.

Corollary 3.11 Let $T \in \mathbb{B}(\mathcal{H})$ and $\varepsilon \in [0, 1)$. The following statements are equivalent:

(i) $T \parallel^{\varepsilon} I.$

A. Zamani and M. S. Moslehian

(ii) $\sup\{\|T\xi - (T\xi \mid \xi)\xi\| : \|\xi\| = 1\} \le \varepsilon \|T\|.$ (iii) $\sup\{\|T\xi\|^2 - |(T\xi \mid \xi)|^2 : \|\xi\| = 1\} \le \varepsilon^2 \|T\|^2.$ (iv) $\|\delta_T\| \le 2\varepsilon \|T\|.$

 $(\mathbf{IV}) \quad \|\boldsymbol{\partial}_T\| \leq 2\varepsilon \|\boldsymbol{I}\|.$

Proof Fujii and Nakamoto [8] proved that

$$\left(\sup\{ \|T\xi\|^2 - |(T\xi \mid \xi)|^2 : \|\xi\| = 1 \} \right)^{\frac{1}{2}} = \inf\{ \|T + \mu I\| : \mu \in \mathbb{C} \} \\ = \sup\{ \|T\xi - (T\xi \mid \xi)\xi\| : \|\xi\| = 1 \}.$$

Thus the implications (i) \Rightarrow (ii) and (ii) \Rightarrow (iii) follow immediately from the above identities.

On the other hand by [3, Remark 3.2] we have

$$\sup\{\|TS - ST\| : \|S\| = 1\} = 2\inf\{\|T + \mu I\| : \mu \in \mathbb{C}\}.$$

Therefore we get $T \parallel^{\varepsilon} I$ if and only if $\lVert \delta_T \rVert = \sup\{\lVert TS - ST \rVert : \lVert S \rVert = 1\} \le 2\varepsilon \lVert T \rVert$.

Two operators $T_1, T_2 \in \mathbb{B}(\mathcal{H})$ are unitarily equivalent if there exists a unitary operator *S* such that $S^*T_1S = T_2$. Clearly $||T_1|| = ||T_2||$.

Proposition 3.12 Let $T_1, T_2 \in \mathbb{B}(\mathscr{H})$ be unitarily equivalent and $\varepsilon \in [0, 1)$. Then (i) $T_1 \parallel I \Leftrightarrow T_2 \parallel I$. (ii) $T_1 \parallel^{\varepsilon} I \Leftrightarrow T_2 \parallel^{\varepsilon} I$.

Proof (i): Since $T_1, T_2 \in \mathbb{B}(\mathscr{H})$ are unitarily equivalent, there exists a unitary operator *S* such that $S^*T_1S = T_2$. Then

$$T_1 || I \Leftrightarrow ||T_1 + \lambda I|| = ||T_1|| + ||I|| \quad \text{for some } \lambda \in \mathbb{T}$$

$$\Leftrightarrow ||S^*(T_1 + \lambda I)S|| = ||S^*T_1S|| + ||S^*IS|| \quad \text{for some } \lambda \in \mathbb{T}$$

$$\Leftrightarrow ||T_2 + \lambda I|| = ||T_2|| + ||I|| \quad \text{for some } \lambda \in \mathbb{T}$$

$$\Leftrightarrow T_2 || I.$$

(ii): It can be proved by the same reasoning as in the proof of (i).

We finish this section with an application of the concept ε -parallelism to some special types of elementary operators. We state some prerequisites for the next result. Let \mathscr{V} be a normed space and $\mathbb{B}(\mathscr{V})$ denotes the algebra of the bounded linear operators on \mathscr{V} . A standard operator algebra \mathfrak{B} is a subalgebra of $\mathbb{B}(\mathscr{V})$ that contains all finite rank operators on \mathscr{V} . For $T_1, T_2 \in \mathfrak{B}$ we denote M_{T_1,T_2} , V_{T_1,T_2} and U_{T_1,T_2} on \mathfrak{B} by $M_{T_1,T_2}(S) = T_1ST_2$ ($S \in \mathfrak{B}$), $V_{T_1,T_2} = M_{T_1,T_2} - M_{T_2,T_1}$ and $U_{T_1,T_2} = M_{T_1,T_2} + M_{T_2,T_1}$, respectively. We denote by $d(U_{T_1,T_2})$ the supremum of the norm of $U_{T_1,T_2}(S)$ over all rank one operators of norm one on \mathscr{V} . Similarly $d(M_{T_1,T_2})$ and $d(V_{T_1,T_2})$ are defined. It is easy to see that $d(M_{T_1,T_2}) = ||M_{T_1,T_2}|| = ||T_1|| ||T_2||$ and $V_{T_1+\mu T_2,T_2} = V_{T_1,T_2}$ for all scalar μ . To establish the following proposition we use some ideas of [18, Theorem 11].

Exact and Approximate Operator Parallelism

Proposition 3.13 Let \mathfrak{B} be a standard operator algebra and $T_1, T_2 \in \mathfrak{B}$. Then the estimate $d(U_{T_1,T_2}) \geq 2(1-\varepsilon) ||T_1|| ||T_2||$ holds if one of the following properties is satisfied:

(i) $T_1 \parallel^{\varepsilon} T_2$; (ii) $T_2 \parallel^{\varepsilon} T_1$.

Proof Let $T_1 \parallel^{\varepsilon} T_2$. Hence $\inf\{\|T_1 + \mu T_2\| : \mu \in \mathbb{C}\} \le \varepsilon \|T_1\|$. For every $\mu \in \mathbb{C}$ we have

$$\begin{aligned} \|V_{T_1,T_2}\| &= \|V_{T_1+\mu T_2,T_2}\| = \|M_{T_1+\mu T_2,T_2} - M_{T_2,T_1+\mu T_2}\| \\ &\leq \|M_{T_1+\mu T_2,T_2}\| + \|M_{T_2,T_1+\mu T_2}\| = 2\|T_2\| \|T_1 + \mu T_2\|. \end{aligned}$$

Hence

$$\|V_{T_1,T_2}\| \le 2\|T_2\|\inf\{\|T_1+\mu T_2\|: \mu \in \mathbb{C}\} \le 2\varepsilon \|T_1\| \|T_2\|$$

from which we get

$$d(V_{T_1,T_2}) \le 2\varepsilon \|T_1\| \|T_2\|.$$

It follows from $U_{T_1,T_2} = 2M_{T_1,T_2} - V_{T_1,T_2}$ that

$$d(U_{T_1,T_2}) \ge 2d(M_{T_1,T_2}) - d(V_{T_1,T_2})$$

$$\ge 2\|T_1\| \|T_2\| - 2\varepsilon\|T_1\| \|T_2\| = 2(1-\varepsilon)\|T_1\| \|T_2\|.$$

By the same argument, the estimation follows under the condition (ii).

4 Parallelism in *C**-algebras and Inner Product *C**-modules

The relations between parallel elements in Hilbert C^* -modules form the main topic of this section. We describe the concept of parallelism in Hilbert C^* -modules. The notion of state plays an important role in this investigation. We begin with the following theorem, which will be useful in other contexts as well. In this theorem we establish some equivalent assertions about the parallelism of elements of a Hilbert C^* -module. The proofs of implication (i) \Rightarrow (ii) in Theorem 4.1 and Corollary 4.2 are modification of ones given by Arambašić and Rajić [2, Theorems 2.1, 2.9]. We present the proof for the sake of completeness.

Theorem 4.1 Let \mathscr{X} be a Hilbert C^* -module over a C^* -algebra \mathscr{A} . For $x, y \in \mathscr{X}$ the following statements are equivalent:

- (i) $x \parallel y$.
- (ii) There exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that $\varphi(\langle x, y \rangle) = \lambda ||x|| ||y||$.
- (iii) There exist a norm one linear functional f over \mathscr{X} and $\lambda \in \mathbb{T}$ such that $f(x) = \|x\|$ and $f(y) = \lambda \|y\|$.

Proof (i) \Rightarrow (ii): Let $x \parallel y$. Hence $||x + \overline{\lambda}y|| = ||x|| + ||y||$ for some $\lambda \in \mathbb{T}$. By [15, Theorem 3.3.6] there is a state φ over \mathscr{A} such that

$$\varphi(\langle x + \overline{\lambda}y, x + \overline{\lambda}y \rangle) = \|\langle x + \overline{\lambda}y, x + \overline{\lambda}y \rangle\| = \|x + \overline{\lambda}y\|^2.$$

We therefore have

$$\begin{split} |x + \overline{\lambda}y||^2 &= \varphi(\langle x + \overline{\lambda}y, x + \overline{\lambda}y \rangle) \\ &= \varphi(\langle x, x \rangle) + \varphi(\langle x, \overline{\lambda}y \rangle) + \varphi(\langle \overline{\lambda}y, x \rangle) + |\lambda|^2 \varphi(\langle y, y \rangle) \\ &= \varphi(\langle x, x \rangle) + 2 \Re \varphi(\langle x, \overline{\lambda}y \rangle) + \varphi(\langle y, y \rangle) \\ &\leq ||x||^2 + 2 ||\langle x, \overline{\lambda}y \rangle|| + ||y||^2 \\ &\leq ||x||^2 + 2 ||x|| ||y|| + ||y||^2 \\ &= (||x|| + ||y||)^2 = ||x + \overline{\lambda}y||^2. \end{split}$$

Thus we get $\varphi(\langle x, x \rangle) = ||x||^2$, $\varphi(\langle y, y \rangle) = ||y||^2$ and $\varphi(\langle x, y \rangle) = \lambda ||x|| ||y||$.

(ii) \Rightarrow (iii): Suppose that there exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that $\varphi(\langle x, y \rangle) = \lambda \|x\| \|y\|$. We may assume that $x \neq 0$. Define a linear functional f on \mathscr{X} by

$$f(z) = rac{\varphi(\langle x, z \rangle)}{\|x\|} \quad z \in \mathscr{X}.$$

It follows from

$$|f(z)| = \left|\frac{\varphi(\langle x, z\rangle)}{\|x\|}\right| \le \frac{\|\langle x, z\rangle\|}{\|x\|} \le \|z\|,$$

that $||f|| \leq 1$. We infer from the Cauchy–Schwarz inequality that

$$\|\mathbf{x}\|^2 \|\mathbf{y}\|^2 = |\varphi(\langle \mathbf{x}, \mathbf{y} \rangle)|^2 \le \varphi(\langle \mathbf{x}, \mathbf{x} \rangle)\varphi(\langle \mathbf{y}, \mathbf{y} \rangle) \le \|\mathbf{x}\|^2 \|\mathbf{y}\|^2$$

so $\varphi(\langle x, x \rangle) = \|x\|^2$ and hence $f(x) = \frac{\varphi(\langle x, x \rangle)}{\|x\|} = \frac{\|x\|^2}{\|x\|} = \|x\|$. Thus $\|f\| = 1$ and $f(y) = \frac{\varphi(\langle x, y \rangle)}{\|x\|} = \frac{\lambda \|x\| \|y\|}{\|x\|} = \lambda \|y\|.$ (iii) \Rightarrow (i): Suppose that there exist a norm one linear functional f over \mathscr{X} and

 $\lambda \in \mathbb{T}$ such that f(x) = ||x|| and $f(y) = \lambda ||y||$. Hence

$$||x|| + ||y|| = f(x) + f(\overline{\lambda}y) = f(x + \overline{\lambda}y) \le ||x + \overline{\lambda}y|| \le ||x|| + ||\overline{\lambda}y|| = ||x|| + ||y||.$$

So, we have $||x + \overline{\lambda}y|| = ||x|| + ||y||$ for $\overline{\lambda} \in \mathbb{T}$. Thus x || y.

Corollary 4.2 Let \mathscr{X} be a Hilbert \mathscr{A} -module and $x, y \in \mathscr{X} \setminus \{0\}$. (i) If $x \parallel y$, then there exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that

$$\frac{\|y\|}{\|x\|}\varphi(|x|^2) + \frac{\|x\|}{\|y\|}\varphi(|y|^2) = 2\lambda\varphi(\langle x, y \rangle).$$

(ii) Let \mathscr{A} have an identity e. If either $|x|^2 = e$ or $|y|^2 = e$ and there exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that

$$\frac{\|y\|}{\|x\|}\varphi(|x|^2) + \frac{\|x\|}{\|y\|}\varphi(|y|^2) = 2\lambda\varphi(\langle x, y \rangle),$$

then $x \parallel y$.

Proof (i): Let $x \parallel y$. As in the proof of Theorem 4.1, there exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that $\varphi(|x|^2) = \varphi(\langle x, x \rangle) = ||x||^2$, $\varphi(|y|^2) = \varphi(\langle y, y \rangle) = ||y||^2$ and

 $\varphi(\langle x, \lambda y \rangle) = \|x\| \|y\|. \text{ Thus}$ $\frac{\|y\|}{\|x\|} \varphi(|x|^2) + \frac{\|x\|}{\|y\|} \varphi(|y|^2) = \frac{\|y\|}{\|x\|} \cdot \|x\|^2 + \frac{\|x\|}{\|y\|} \|y\|^2 = 2\|x\| \|y\| = 2\lambda\varphi(\langle x, y \rangle).$

(ii): We may assume that $|x|^2 = e$. We have

$$\begin{split} 0 &\leq \left(\sqrt{\|y\|} - \sqrt{\frac{\varphi(|y|^2)}{\|y\|}}\right)^2 \\ &= \left(\sqrt{\frac{\|y\|}{\|x\|}}\varphi(|x|^2) - \sqrt{\frac{\|x\|}{\|y\|}}\varphi(|y|^2)\right)^2 \\ &= \frac{\|y\|}{\|x\|}\varphi(|x|^2) + \frac{\|x\|}{\|y\|}\varphi(|y|^2) - 2\sqrt{\varphi(|x|^2)}\varphi(|y|^2) \\ &= \frac{\|y\|}{\|x\|}\varphi(|x|^2) + \frac{\|x\|}{\|y\|}\varphi(|y|^2) - 2\sqrt{\varphi(\langle x, x \rangle)}\varphi(\langle \lambda y, \lambda y \rangle) \\ &\leq \frac{\|y\|}{\|x\|}\varphi(|x|^2) + \frac{\|x\|}{\|y\|}\varphi(|y|^2) - 2\sqrt{|\varphi(\langle x, \lambda y \rangle)|^2} \end{split}$$

(by the Cauchy–Schwarz inequality)

$$= \frac{\|y\|}{\|x\|} \varphi(|x|^2) + \frac{\|x\|}{\|y\|} \varphi(|y|^2) - |2\lambda\varphi(\langle x, y \rangle)|$$

= $\frac{\|y\|}{\|x\|} \varphi(|x|^2) + \frac{\|x\|}{\|y\|} \varphi(|y|^2) - \left| \frac{\|y\|}{\|x\|} \varphi(|x|^2) + \frac{\|x\|}{\|y\|} \varphi(|y|^2) \right|$
= 0.

We conclude that $\varphi(\langle y, y \rangle) = \|y\|^2$ and $\varphi(\langle x, y \rangle) = \overline{\lambda} \sqrt{\varphi(|x|^2)\varphi(|y|^2)} = \overline{\lambda} \|x\| \|y\|$, since $2\lambda\varphi(\langle x, y \rangle) \ge 0$. Thus, by Theorem 4.1 (ii), we get $x \| y$.

Corollary 4.3 Let \mathscr{X} be a Hilbert \mathscr{A} -module and $x, y \in \mathscr{X}$. Then the following statements are equivalent:

- (i) $x \parallel y$.
- (ii) There exist a state φ over $\mathbb{K}(\mathscr{X})$ and $\lambda \in \mathbb{T}$ such that $\varphi(\theta_{x,y}) = \lambda ||x|| ||y||$.

Proof Since \mathscr{X} can be regarded as a left Hilbert $\mathbb{K}(\mathscr{X})$ -module via the inner product $[x, y] = \theta_{x,y}$, therefore we reach the result by using Theorem 4.1.

The following result characterizes the parallelism for elements of a C^* -algebra.

Corollary 4.4 Let \mathscr{A} be a C^* -algebra, and $a, b \in \mathscr{A}$. Then the following statements are equivalent:

- (i) $a \parallel b$.
- (ii) There exist a state φ over \mathscr{A} and $\lambda \in \mathbb{T}$ such that $\varphi(a^*b) = \lambda ||a|| ||b||$.
- (iii) There exist a Hilbert space \mathscr{H} , a representation $\pi : \mathscr{A} \to \mathbb{B}(\mathscr{H})$, a unit vector $\xi \in \mathscr{H}$ and $\lambda \in \mathbb{T}$ such that $||\pi(a)\xi|| = ||a||$ and $(\pi(a)\xi | \pi(b)\xi) = \lambda ||a|| ||b||$.

Proof If \mathscr{A} is regarded as a Hilbert \mathscr{A} -module, then the equivalence (i) \Leftrightarrow (ii) follows from Theorem 4.1.

A. Zamani and M. S. Moslehian

To show (ii) \Rightarrow (iii), suppose that there are a state φ and $\lambda \in \mathbb{T}$ such that $\varphi(a^*b) = \lambda ||a|| ||b||$. By the Cauchy–Schwarz inequality we have

$$||a||^{2} ||b||^{2} = |\varphi(a^{*}b)|^{2} \le \varphi(a^{*}a)\varphi(b^{*}b) \le ||a||^{2} ||b||^{2},$$

so $\varphi(a^*a) = ||a||^2$. By [5, Proposition 2.4.4] there exist a Hilbert space \mathscr{H} , a representation $\pi: \mathscr{A} \to \mathbb{B}(\mathscr{H})$ and a unit vector $\xi \in \mathscr{H}$ such that for any $c \in \mathscr{A}$ we have $\varphi(c) = (\pi(c)\xi \mid \xi)$. Hence

$$\|\pi(a)\xi\| = \sqrt{\left(\pi(a)\xi \mid \pi(a)\xi\right)} = \sqrt{\left(\pi(a^*a)\xi \mid \xi\right)} = \sqrt{\varphi(a^*a)} = \|a\|,$$

and

$$\left(\pi(b)\xi \mid \pi(a)\xi\right) = \left(\pi(a^*b)\xi \mid \xi\right) = \varphi(a^*b) = \lambda ||a|| ||b||.$$

Finally, we show (iii) \Rightarrow (ii). Let condition (iii) hold and let $\varphi \colon \mathscr{A} \to \mathbb{C}$ be the state associated to π and ξ by $\varphi(c) = (\pi(c)\xi \mid \xi), c \in \mathscr{A}$. Thus

$$\varphi(a^*b) = \left(\pi(a^*b)\xi \mid \xi\right) = \left(\pi(b)\xi \mid \pi(a)\xi\right) = \lambda \|a\| \|b\|.$$

The proof of the following proposition is a modification of one given by Rieffel [17, Theorem 3.10].

Proposition 4.5 Let \mathscr{A} be a C^* -algebra with identity e and $\varepsilon \in [0, 1)$. Then for any $a \in \mathscr{A}$ the following statements are equivalent:

$$\begin{array}{ll} \text{(i)} & a \parallel^{\varepsilon} e.\\ \text{(ii)} & \max\{\sqrt{\varphi(a^*a) - |\varphi(a)|^2} : \varphi \in S(\mathscr{A})\} \leq \varepsilon \|a\|. \end{array}$$

Proof (i) \Rightarrow (ii): For every $\varphi \in S(\mathscr{A})$ and $\mu \in \mathbb{C}$ a direct calculation shows that

$$\sqrt{\varphi(a^*a) - |\varphi(a)|^2} = \sqrt{\varphi((a + \mu e)^*(a + \mu e)) - |\varphi(a + \mu e)|^2}$$
$$\leq \sqrt{\varphi((a + \mu e)^*(a + \mu e))} \leq ||a + \mu e||.$$

So max{ $\sqrt{\varphi(a^*a) - |\varphi(a)|^2}$: $\varphi \in S(\mathscr{A})$ } $\leq \inf\{\|a + \mu e\| : \mu \in \mathbb{C}\}$. Since $a \parallel^{\varepsilon} e$, we have $\inf\{\|a + \mu e\| : \mu \in \mathbb{C}\} \leq \varepsilon \|a\|$. Thus

$$\max\{\sqrt{\varphi(a^*a)-|\varphi(a)|^2}:\varphi\in S(\mathscr{A})\}\leq \varepsilon\|a\|.$$

(ii) \Rightarrow (i): Let (ii) hold and let $\inf\{||a + \mu e|| : \mu \in \mathbb{C}\} = ||a + \alpha e||$ for some $\alpha \in \mathbb{C}$. Then for any $\mu \in \mathbb{C}$ we have $||(a + \alpha e) + \mu e|| \ge ||a + \alpha e||$, whence by [1, Theorem 2.7], there exists a state $\varphi_{\alpha} \in S(\mathscr{A})$ such that

$$\sqrt{\varphi_{\alpha}((a+\alpha e)^*(a+\alpha e))} = ||a+\alpha e||$$
 and $\varphi_{\alpha}(a) = -\alpha$

Therefore

$$\inf\{\|a + \mu e\| : \mu \in \mathbb{C}\} = \|a + \alpha e\| = \sqrt{\varphi_{\alpha} \big((a + \alpha e)^* (a + \alpha e) \big)}$$
$$= \sqrt{\varphi_{\alpha} (a^* a) + \overline{\alpha} \varphi_{\alpha} (a) + \alpha \varphi_{\alpha} (a^*) + |\alpha|^2}$$
$$= \sqrt{\varphi_{\alpha} (a^* a) - |\varphi_{\alpha} (a)|^2}$$
$$\leq \max\{\sqrt{\varphi(a^* a) - |\varphi(a)|^2} : \varphi \in S(\mathscr{A})\}.$$

Thus $\inf\{||a + \mu e|| : \mu \in \mathbb{C}\} \le \varepsilon ||a||$, or equivalently, $a ||^{\varepsilon} e$.

In the following result, we utilize the linking algebra to give some equivalent assertions regarding parallel elements in a Hilbert C^* -module.

Theorem 4.6 Let \mathscr{X} be a Hilbert \mathscr{A} -module and $x, y \in \mathscr{X}$. Then the following statements are mutually equivalent:

(i) $x \parallel y$.

- (ii) $\langle x, x \rangle \parallel \langle x, y \rangle$ and $\parallel \langle x, y \rangle \parallel = \parallel x \parallel \parallel y \parallel$.
- (iii) $r(\langle x, y \rangle) = ||\langle x, y \rangle|| = ||x|| ||y||.$
- (iv) $\|\langle x, x + \lambda y \rangle\| = \|x\|(\|x\| + \|y\|)$ for some $\lambda \in \mathbb{T}$.

Proof Consider the elements $\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix}$ and $\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix}$ of the C^* -algebra $\mathbb{L}(\mathscr{X})$, the linking algebra of \mathscr{X} . Let $\pi \colon \mathbb{L}(\mathscr{X}) \to \mathbb{B}(\mathscr{H})$ be a non-degenerate faithful representation of $\mathbb{L}(\mathscr{X})$ on some Hilbert space \mathscr{H} [5, Theorem 2.6.1].

(i) \Leftrightarrow (ii): A straightforward computation shows that

$$x \parallel y \Leftrightarrow \begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \parallel \begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \Leftrightarrow \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right) \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \right)$$

Thus by Theorem 3.3, we get

$$\begin{split} x \parallel y \Leftrightarrow \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right) \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \right) \\ \Leftrightarrow \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right)^* \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right) \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right)^* \pi \left(\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \right) \parallel = \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_x & 0 \end{bmatrix} \right) \parallel \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \right) \parallel \\ \Leftrightarrow \pi \left(\begin{bmatrix} 0 & l_x r_x \\ 0 & 0 \end{bmatrix} \right) \parallel \pi \left(\begin{bmatrix} 0 & l_x r_y \\ 0 & 0 \end{bmatrix} \right) \text{ and } \\ \parallel \pi \left(\begin{bmatrix} 0 & l_x r_x \\ 0 & 0 \end{bmatrix} \right) \parallel = \parallel \pi \left(\begin{bmatrix} 0 & l_x \\ 0 & 0 \end{bmatrix} \right) \parallel \parallel \pi \left(\begin{bmatrix} 0 & 0 \\ r_y & 0 \end{bmatrix} \right) \parallel \\ \Leftrightarrow \begin{bmatrix} 0 & T_{\langle x, y \rangle} \\ 0 & 0 \end{bmatrix} \parallel \begin{bmatrix} 0 & T_{\langle x, y \rangle} \\ 0 & 0 \end{bmatrix} \parallel \parallel \begin{bmatrix} 0 & l_x \\ 0 & 0 \end{bmatrix} \parallel \parallel \begin{bmatrix} 0 & l_x \\ 0 & 0 \end{bmatrix} \parallel$$

(ii) \Leftrightarrow (iii): By the equivalence (iii) \Leftrightarrow (iv) of Theorem 3.3, the proof is similar to the proof of the equivalence (i) \Leftrightarrow (ii), so we omit it.

(ii) \Rightarrow (iv): Since $\langle x, x \rangle \parallel \langle x, y \rangle$, we have $\parallel \langle x, x \rangle + \lambda \langle x, y \rangle \parallel = \parallel \langle x, x \rangle \parallel + \parallel \langle x, y \rangle \parallel$ for some $\lambda \in \mathbb{T}$. It follows from $\parallel \langle x, y \rangle \parallel = \parallel x \parallel \parallel y \parallel$ that

$$\|\langle x, x + \lambda y \rangle\| = \|\langle x, x \rangle + \lambda \langle x, y \rangle\| = \|\langle x, x \rangle\| + \|\langle x, y \rangle\| = \|x\|(\|x\| + \|y\|).$$

(iv) \Rightarrow (i): We may assume that $x \neq 0$. Due to $||\langle x, x + \lambda y \rangle|| = ||x||(||x|| + ||y||)$ for some $\lambda \in \mathbb{T}$, by the Cauchy–Schwarz inequality, we have

$$||x||(||x|| + ||y||) = ||\langle x, x + \lambda y \rangle|| \le ||x|| ||x + \lambda y|| \le ||x||(||x|| + ||y||).$$

Thus $||x + \lambda y|| = ||x|| + ||y||$. Hence x || y.

Now, by Theorem 3.7 and the same technique used for proving Theorem 4.6 the final result is obtained.

Corollary 4.7 Let \mathscr{X} be a Hilbert \mathscr{A} -module, $x, y \in \mathscr{X}$ and $\varepsilon \in [0, 1)$. If $x \parallel^{\varepsilon} y$, then

$$|\varphi(\langle x, y \rangle)|^2 \ge \varphi(\langle x, x \rangle)\varphi(\langle y, y \rangle) - \varepsilon^2 \|\langle x, x \rangle\| \|\langle y, y \rangle\| \quad (\varphi \in S(\mathscr{A})).$$

References

- Lj. Arambašić and R. Rajić, *The Birkhoff–James orthogonality in Hilbert C*-modules*. Linear Algebra Appl. 437(2012), 1913–1929. http://dx.doi.org/10.1016/j.laa.2012.05.011
- [2] _____, On some norm equalities in pre-Hilbert C*-modules. Linear Algebra Appl. 414(2006), 19–28. http://dx.doi.org/10.1016/j.laa.2005.09.006
- [3] R. Bhatia and P. Šemrl, Orthogonality of matrices and some distance problems. Linear Algebra Appl. 287(1999), 77–85. http://dx.doi.org/10.1016/S0024-3795(98)10134-9
- [4] J. Chmieliński, On an ε-Birkhoff orthogonality. J. Inequal. Pure Appl. Math. 6(2005), Art. 79, 7 pages (electronic).
- [5] J. Dixmier, C*-Algebras. North-Holland, Amsterdam, 1981.
- [6] S. S. Dragomir, On approximation of continuous linear functionals in normed linear spaces. An. Univ. Timişoara Ser. Ştiinţ. Mat. 29(1991), 51–58.
- [7] J. I. Fujii, M. Fujii, M. S. Moslehian, and Y. Seo, *Cauchy–Schwarz inequality in semi-inner product C*-modules via polar decomposition*. J. Math. Anal. Appl. **394**(2012), 835–840. http://dx.doi.org/10.1016/j.jmaa.2012.04.083
- [8] M. Fujii and R. Nakamoto, An estimation of the transcendental radius of an operator. Math. Japon. 27(1982), 637–638.
- [9] K. E. Gustafson and D. K. M. Rao, Numerical Range. The Field of Values of Linear Operators and Matrices. Universitext, Springer-Verlag, New York, 1997.
- [10] D. Ilišević and A. Turnšek, Approximately orthogonality preserving mappings on C*-modules. J. Math. Anal. Appl. 341(2008), 298–308. http://dx.doi.org/10.1016/j.jmaa.2007.10.028
- [11] E. C. Lance, Hilbert C*-modules. A Toolkit for Operator Algebraists. London Math. Soc. Lecture Note Ser. 210, Cambridge University Press, Cambridge, 1995.
- [12] V. M. Manuilov and E. V. Troitsky, *Hilbert C*-modules*. In: Translations of Mathematical Monographs 226, Amer. Math. Soc., Providence, RI, 2005.
- [13] C. A. McCarthy, cp. Israel J. Math. 5(1967), 249–271. http://dx.doi.org/10.1007/BF02771613
- [14] M. S. Moslehian, An operator extension of the parallelogram law and related norm inequalities. Math. Inequal. Appl. **73**(2010), 3821–3831.
- [15] G. J. Murphy, C*-Algebras and Operator Theory. Academic Press, New York, 1990.
- [16] I. Raeburn and D. P. Williams, Morita equivalence and continuous-trace C*-algebras. Math. Surveys Monogr. 60, American Mathematical Society, Providence, RI, 1998.
- [17] M. A. Rieffel, Standard deviation is a strongly Leibniz seminorm. arxiv:1208.4072v2.
- [18] A. Seddik, On the injective norm of $\sum_{i=1}^{n} A_i \otimes B_i$ and characterization of normaloid operators. Oper. Matrices 2(2008), 67–77. http://dx.doi.org/10.7153/oam-02-04
- [19] _____, Rank one operators and norm of elementary operators. Linear Algebra Appl. 424(2007), 177–183. http://dx.doi.org/10.1016/j.laa.2006.10.003
- [20] D. Werner, An elementary approach to the Daugavet equation. In: Interaction between functional analysis, harmonic analysis, and probability (Columbia, MO, 1994, Lecture Notes in Pure and Appl. Math. 175, Dekker, New York, 1996, 449–454.

Department of Pure Mathematics, Center of Excellence in Analysis on Algebraic Structures (CEAAS), Ferdowsi University of Mashhad, Mashhad 91775, Iran

e-mail: zamani.ali85@yahoo.com moslehian@um.ac.ir moslehian@member.ams.org